N.B. (1). Question No.1 is compulsory.
{2). Out of remaining attempt any three,
(3). Assume sultable data wherever required,

(4). Figures to right indicates full marks.

a).

b).

c).

dy.

e).

Ques.2 a).

b).

Ques.3 a).
).

Ques.4 a).

b).

\@
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Ques.1, Solve any [Four):
o ‘ Describe PMBOK -
Explain Triple constraints of a project.
Explain Business Case.
~ Explain formal and informal organisation

What is project? What are the attributes of a pro;

Explain work breakdown structure with @éﬁmplc

Explain various project schedulin

CPM and PERT.

. N
Explain project lcadershig‘fgn’d ethics.

%y
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{80 Marks)

,@9
)\h.

¢

List and explain the S‘tfj'pg involved in terminating a project.

N

Q_

&

What is p@%t risk management‘? What are the RM processes?

(5]
[5]
(5]
[5]

[10]

gefhhmques Explain the difference between

[10]

[10]
10)

- [10]

resource loading from resource levellmg Why is levelling of

X
L

How can a systam be a technical suceess but an organizational failure?

Dlsngg
ras\%'g ‘es preferred to large fluctuations?”

Ques 5. a) {\5 Explain project life cycle and its relatmn with SDL.C.

(10]

[10]
o1

[TURN OVER
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Ques.6 a), What is the role of implementation plan? Explain in brief the contents of

implementation plan of a project. : [10]
b). What is meant by Communication Management? What are the strategies for
an effective communication system? _ [10] *{«Y‘
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B. : (1) Q. 1.is compulsory bwlo
(2) Attempt any three out of five. | O<j\
: §
1. (a) What are cloud deployment models? | W5
(b) Explain benefits of virtualization? ' | > S
(¢) What saas maturity model? ‘ Jl«\r 3
(d) Explain different types of hypervisor with example. oY ? S
. o ‘
2. (a) Explain Openstack Architecture in_detail. & 10
‘b) Explain Xen architecture in detail. | O\QK/ - 10
; %
3. (@ What are the features of Google file system? f';\v'}\ 10
(b) Explain cloud Data Security? ' /@b} 10
>
4. (a) What are techqnines for the risk assessment a}i@management for cloud" 10
(b)  Explain AAA model for cloud? el 10
(5:) .
5. (a) What is the impact of shared resour@e&s and Multi-Tenancy on c]gud 10
 Applications?
(b) What are the fundamental reqmremei?fs for cloud apphcatlon arch1tectuye‘? 10
- - & |
6. Write a note on:- ' @Q/ 10

(@ Cloud Service Brokex;a}ée
(b)  Mobile cloud Coméaiﬁmg
(¢) Amzon simple DB,

(d) Modes of Eucg‘{ptus
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Revised Course NS
(3 Hours) [ Total Marks : §g} ~
‘2
N.B. : (1) Question No. 1 is compulsory. ¥
(2) Attempt any three questions out of the remaining five questions.

1. Attempt any five ' : 'Qﬁ)l')\% 20
(a) Describe Bayes theorem, \;\ '
(b) What are modus ponen ? Q-
(c) Define Alpha & Beta value in game tree? b
(d) Differentiate between prepostional and predicate longur\ \
(e) Give Agent Task Environment of Image analysis. \\/
(f) Explain in short what is Expert System Shell. A 2
\\-)')
2. (a) Consider a knowledge base KB that contain follong propositional logic 10
sentenced. p \:\ N
Q=P v
P=>—a g 4
Q v—= R Q/\)
(i) Constructa truth table that §ﬁows the truth value of each sentence
in KB and indicate the e el in which KB is true.
(ii) Does KB entail R ? usg deﬁnmon of entailment to justify your
answer. \
(iili) Does KB R = —at"entall ? Extend the truth table and use the
difinition of entmlment to justify your answer.
(iv) Does KB Q = —‘~ '—R entail ? Extend the truth table and use the
difinition or;entallment to justify your answer.
= (b) Explam simulated ant 1ealing with diagram. Where it is used ? 10
A
{5
3. (a) Measure 1 liter v&at/cr if available Jug sizes are 7 hters and 5 liters.
(b) What is PBASUescnptor ? BExplain PEAS descriptor for Taxi diver Agent.
(¢) You have tvs(o ‘nighbour, John and Mary, who have promised to call you at 5
work w eﬁ they hear the alarm. John always calls when he hears the alarm,
but son{}: imes confuses the telephone ringing with the alarm and calls then,
too., ary on other hand, likes rather loud music and some times misses the
al rn altogether. Given the evidence of who has or has not called. We would
.h%a to estimate the probability of a burglary. Draw a Bayesian network for
\?‘thxs domain with suitable probability table.

.

Ao [TURN OVER



Q.P. Code : 31352

2 ¥
4. (a) Assume the following facts :- 0
(1) It is a crime for an American to sell weapons to hostile nations, e
(ii)  The country Nano an enemy of America. ~
(iii) Nano has some missiles; all of its missiles were sold to try it by Co{onel
West. 10

N J‘
(iv) Colonel West is an American (\

Use resolution to answer the question "Colonel Wcst is a Crlmma)!\?
(b) Differentiate between Informed and uniformed search techni ue . Also give 8
comparative analysis of various uninformed search tcohmquuy
Sy

B \‘”‘l

5. (a) Apply DFS algorithm on gwen iree write the sequence of\nodes in which it is
explored.

(b) List down all types Ageni mclutechture Explain utxhty based and learning 5
agent,

. (c) Whatis Expert Syst S "ﬁ(plﬂm its working with block Diagram, 7

6. Write Short notes on a“.‘;,’“ Fom ' 20
(a) Ontology -
(b) Crypto A‘i&lthmam Problem
(¢) WUMBUS world Environment
(d) Paltzﬁl order planner with STRIP representation
(¢) Prg_}ﬂ)g

‘U
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Correction

Q3&0. 4 (a). 4 {b) are of 10 Marks each.
Q. 5{a)is of 8 Marks
Q.5 {b}) is of 5 Marks
Q5 (c) is of 7 Marks
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Q.P. Code : 31422 A
X
Q
(2% Hours) ‘ [Total Marks ; Q{)
N:B.: (1) All questions are compulsory. ?S\“\
(2) Solve any three questions out of the remaining ﬁve questions b\?’
- )
1.A) Consider a cellular network with 64 cells. Each hexagonal ceil has an 10
appropriate area of 10 km?. The total number of radio channeli“a,\ﬂotted for
the network is 336. Find the total number of channels of the\ﬂctwork if
a) N=4 o5 g
b) N=7 2 2
c) N =12. Where N denotes cell reuse. Ag‘:)
\_..
B) _Illustrate FHSS and DSSS with suitable examp}\@ : 10
\’?-
2. A) Explain in detail functional architecture of@&iSM system. 10
B) Explain in detail MMDS and LMDS w Qﬁﬁfng in WLL based technology 10
3.A) Explain in detail IEEE 802.11 WLAkYArchltecture 10
B) Explain in detail Hidden Tcrmm\@} Kand Exposed terminal problem with 10
respect to WLAN. C A
\,
4. A) Explain in wireless secu?fy,) ) offered by IEEE 802.11 in detall with neat 10
diagram.
B) Explain in detail Blue@oth Protocol architecture with neat diagram. ' 10
5.A) Explain Bluetoo igjltﬁse:curxty aspect. ' 10
B) Explain WEP ocol in detail. , ' 10
6. Write short noEf??\ ' ' 2
a, OF '
b. _L Architecture
c »\aS-r-\atellite Systems
&/ MACA
-
o
l‘\;i:\\(
N
0
}
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Q6
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{3 Hours)

Q1 is compulsory.
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[Total Marks : 80

Write any three questions out of remaining.

Assume suitable data wherever necessary.

ta)
{h)
()
{d)
{a)

(b}

{a)

{l)
(&)

Show that High pass = orlginal — low pass

How contrast stretching Is different than thresholding
Explatn Biglial water marking and its application
Explain Discrete time system
fInd BFT of the Image

il o

raf Wi NP

[ RERITRES SR

W bWl

Explain HIT and Miss Transform

Calculate the dlrectlon of the edge at the centre po

0
..(:“’: N
e
i
(s}

.
A\\)\)
Int gfitHe Image
of
=[50 60 700
5 50 0
o
7 9{\:\ 0]

Explain varlous frequency domaln 1q_\y.\ﬁ"a‘ss fiiters in detail

perform histogram stretching so t

wrnew Image has & dynamic range of

{0, 7] L

Grey 0 1 e 13 4 5 6 |7

lavel ey

No. of 100 9@"\""' 85 170 0 0 0 0
Pixels oy J

Differentiate bet_\;‘

Compare Iosstg%-‘"énd lossy compression techniques
Explaln app}_ii@'ﬁc}n of Image processing in digital watermarking
For the gl»igak‘\ 3 bit, 4x4 shze Image perform the following operatlons

(1} o thresholding

s

FW.Con.12192-16.

bit plane slicing for LSB and MSB planes

Ex._tf:\!'}é\'n walsti and wavelet transform

S

en polnt operatlion and neighbourhood operations

10
i0

10

10
10
19
10

10
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